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SHRENRE STUEE BB IKRE LT

£ g g - BKTE BfT 8 2 i ki £ m =
EEI=E 882,188
BEREEHR 882,188
BEREEHR 882,188
MEER A= 761, 069
MEER A= 761, 069
1-1 {E%EtE 1.00 86, 220. 00 86, 220
E3:
1-2 B E 0.13 136, 200. 00 17,706
km
1-3 fbMREE 0.13 460, 100. 00 59, 813
km
1-4 HtErAl= 0.13 339, 200. 00 44,096
km
1-5 &A= 0.13 981, 000. 00 127,530
km
1-6 A E 1.00 425,704.00 425,704
=
EEREE 121,119
WREXBE 80,119
-1 REXBE 1.00 80, 119. 00 80, 119
=
ETHREMIERE 41,000
1-8 BEFHRRERE 1.00 41, 000. 00 41, 000
=
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% R R - RARSTiE B 2 B % i) ]
EER 4,699, 781
BHEICE 4,699, 781
BHEICE 4,699, 781
EARERE 4,526, 342
EARERE 3,119,632
2-1 BiEE 1.00 120, 456. 00 120, 456
=
2-2 FERBEKBORET 1.00 854, 500. 00 854, 500
=
2-3 EEIAEDRKRE 1.00 854, 500. 00 854, 500
=
2-4 BRERHEKER DB EDKRET 1.00 854, 500. 00 854, 500
=
2-5 HETEHE 1.00 174, 314. 00 174,314
=
2-6 BIEHERY 1.00 94, 558. 00 94, 558
=
2-1 BIETEEHH 1.00 86, 686. 00 86, 686
=
2-8 BE 1.00 80, 118. 00 80,118
=
BB IERR &Y 790, 810
2-9 HEKBIEERET 1.00 790, 810. 00 790, 810
=
HEEHE 615, 900
2-10 HaTHE 1.00 109, 800. 00 109, 800
=
2-11 hRERE 1.00 329, 400. 00 329, 400




SHRENRE STUEE BB IKRE LT

% R R - RARSTiE BfL % 8 B ® # m o=

2-12 J#R|E 1.00 176, 700. 00 176, 700
=

E#EEE 173, 439

EHRARE 32,739

2-13 EHEARE 1.00 32,739.00 32,739
=

EBRERE 122, 211

2-14 EHHRME 1.00 122,211.00 122,211
=

REXBE 18, 489

2-15 REXBE 1.00 18, 489. 00 18, 489
=
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% g R - KSR Bifr B 2 B i & B W =
EENEE 882, 188
HEHE 882,188 x 85.8% — 9,105 747, 812
AEEEE 882,188 + 747,812 1,630, 000
BB E TS 1,630, 000
BRI 4,526,342 + 173,439 4,699, 781
EEAGE 4,526, 342
BE#ERE 173,439
Z Ot S f 4,526,342 x 53.85% ( 35% + (1 — 35%) ) 2,431,435
RHRIE 4,699,781 + 2,437,435 7,137,216
—RERESE 7,137,216 x 53.85% ( 35% + (1 — 35%) ) — 606 3,842,784
KBS 7,137,216 + 3,842,784 10, 980, 000
B EHEAE 1,630,000 + 10, 980, 000 12,610, 000
HETR SR L 12,610,000 x 10.00% 1,261,000
FEIZRE 13,871,000
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&5 :1-1
&5 fEXEE IEZ:ED
2 b g - BIRTE By = BHO(f %8 W = " =
EXEHE
E3: 1.000 86, 220. 00 86, 220
& Hi VEZERED ¢ 1. 0075 86, 220. 00 86, 220
T EE L
FHE—IEWHE  TL
&5 :1-2
£ BhEE Tkm¥y
2 b g - BIRTE By = BHO(f %8 W E " =
RIS HRER %=
A 1. 600 46, 330. 00 74,128
B S B Eh#H %=
A 1. 400 35, 940. 00 50, 316
HEmRE EEAEED
% 2.000 124, 444.00 2,488
Mg EEAEED
% 7. 500 124, 444.00 9,333
HhiEEIC & D LR
0. 000 136, 265. 00 0
& Hi 1E%HBEH :1.00km 136, 200. 00 136, 265
T EE L
FHE—IEWHE  TL
&5 :1-3
B FIDMRAIE Tkm¥%y
2 b g - BIRTE By = BHoO(f %8 W E " =
il R EEAZETE
km 1.000 48, 270. 00 48, 270
BIERRE
km 1.000 315, 300. 00 315, 300
32 AROY 35
km 1.000 43, 720. 00 43,720
RREE
km 1.000 52, 830. 00 52, 830
& Hi YEEREN :1.00km 460, 100. 00 460, 120
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BE  1-4
B HEETAIE Tkm3Hy
2 b g - BIRTE By = B ) W = " =
Al
km 1.000 216, 500. 00 216, 500
it B E B 4E R
km 1.000 74, 690. 00 74,690
mREE
km 1.000 48, 050. 00 48, 050
& Hi 1E%HBEH :1.00km 339, 200. 00 339, 240
T EE L
FHE—IEWHE  TL
&S .15
& HEIRAE Tkm3Hy
2 b g - BIRTE By = B ) W E " =
Al
km 1. 000 683, 500. 00 683, 500
TEETE e
km 1. 000 198, 100. 00 198, 100
mREE
km 1. 000 99, 430. 00 99, 430
& Hi 1E%HBEH :1.00km 981, 000. 00 981,030
T EE L
FHE—IEWHE  TL
ES . 1-6
&% RiAE 0.0013km2%Y (1)
2 b g - BIRTE By = B ) W E " =
HERA= FAE S
= 1. 000 300, 805. 00 300, 805
HERA= SES
= 1. 000 33, 444.00 33, 444
HiERSE
= 1. 000 58, 837. 00 58, 837
HEHERET—2 771 ILOER
= 1. 000 32,618.00 32,618
S =t fE2EEH - 1,005 425, 704. 00 425, 704
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&5 :1-1
2% REXEE 1LY
2 b g - BIRTE By = il %8 # " =
REXEE
= 1.000 80, 119. 00 80,119
& Hi 1YE%HeRH 1,00 80, 119. 00 80,119
T EE L
FHE—REWE : TL
&5 :1-8
2% EFRRBERE 1LY
2 b g - BIRTE By = il %8 # " =
BFHRERIERE
= 1.000 41, 000. 00 41,000
& Hi 1E%HeH - 1.00K 41, 000. 00 41,000
FIEEEMIEE L
FHE—REMWE : TL
&5 :2-1
&% BAE 1LY
2 b g - BIRTE By = il %8 # " =
HE - HiE
A 0. 540 66, 900. 00 36, 126
FERER
A 0.810 58, 600. 00 47, 466
AR (A)
A 0.720 51, 200. 00 36, 864
& Hi 1E%HeH - 1.00K 120, 456. 00 120, 456

FEEMSNEE L
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&5 :2-2
B FEREEKEBDRET IEE)
£ b g - BIRTE By = B ) M = & &
FEHER
A 3.000 58, 600. 00 175, 800
FEHER BE
A 1. 500 58, 600. 00 87,900
HEm (A)
A 4.000 51, 200. 00 204, 800
HEm (A) BE
A 1.000 51, 200. 00 51, 200
e (B)
A 4.500 41, 600. 00 187, 200
Em (C)
A 4.500 32, 800. 00 147, 600
& Hi 1EZBER - 1.00 854, 500. 00 854, 500
FEEENEE G L
FHE—IEWHE - LU
&5 :2-3
£ I AEO®KE B
£ Eu g - BIRTE By = B ) M = & &
FEHER
A 3.000 58, 600. 00 175, 800
FEHER BE
A 1. 500 58, 600. 00 87,900
HEm (A)
A 4.000 51, 200. 00 204, 800
HEm (A) BE
A 1.000 51, 200. 00 51, 200
e (B)
A 4.500 41, 600. 00 187, 200
Em (C)
A 4.500 32, 800. 00 147, 600
& Hi 1EZBER - 1.00 854, 500. 00 854, 500
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&5 :2-4
£ 75 RS HKBRONEAEZDORE 14y
2 b g - BIRTE By = BHO(f ) W = " =
FEHER
A 3.000 58, 600. 00 175, 800
FEHER BE
A 1.500 58, 600. 00 87,900
AR (A)
A 4.000 51, 200. 00 204, 800
HEm (A) BE
A 1.000 51, 200. 00 51,200
HEm (B)
A 4.500 41, 600. 00 187, 200
AR (C)
A 4.500 32, 800. 00 147, 600
& Hi 1E%HeH - 1.00K 854, 500. 00 854, 500
T EE L
FHE—IEWE Tl
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£% : EIEE 14y
2 b g - BIRTE By = BHO(f ) W E " =
HE - HiE
A 0. 260 66, 900. 00 17,394
FEHER
A 0.310 58, 600. 00 18, 166
AR (A)
A 0.670 51, 200. 00 34, 304
HEm (B)
A 1.120 41, 600. 00 46, 592
AR (C)
A 1.260 32, 800. 00 41,328
g
A 0.570 29, 000. 00 16, 530
& Hi 1E%HeH - 1.00K 174, 314.00 174, 314
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2% MEHEHELD 14y
2 b g - BIRTE By o = B ® W = " =
FEHER
A 0.240 58, 600. 00 14,064
AR (A)
A 0.320 51, 200. 00 16, 384
HEm (B)
A 0.670 41, 600. 00 217,872
AR (C)
A 0. 760 32, 800. 00 24,928
g
A 0.390 29, 000. 00 11, 310
& Hi 1YE%HeH - 1.00K 94, 558. 00 94, 558
T EE L
FHE—IEWE Tl
&5 :2-1
&% BEISEESY 14y
2 b g - BIRTE By H = B ® W E " =
HE - HiE
A 0. 160 66, 900. 00 10, 704
FEHER
A 0.170 58, 600. 00 9,962
AR (A)
A 0.290 51, 200. 00 14, 848
HEm (B)
A 0. 480 41, 600. 00 19, 968
AR (C)
A 0. 580 32, 800. 00 19, 024
g
A 0.420 29, 000. 00 12,180
& Hi 1E%HeH - 1.00K 86, 686. 00 86, 686
T EE L
FHE—IEWE Tl
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&5 :2-8
2 BE 14y
2 b g - BIRTE By = BHO(f ] W = " =
FEEMNE
A 0.180 70, 600. 00 12,708
HE - HiE
A 0.180 66, 900. 00 12,042
FEHER
A 0. 360 58, 600. 00 21,096
AR (A)
A 0. 450 51, 200. 00 23, 040
HEm (B)
A 0.270 41, 600. 00 11, 232
& Hi 1YE%HeH - 1.00K 80, 118. 00 80,118
T EE L
FHE—IEWE Tl
&5 :2-9
B HEKISIEERET 14y
2 b g - BIRTE By = BHO(f ] W E " =
HE - HiE
A 0. 300 66, 900. 00 20,070
FEHER
A 2.200 58, 600. 00 128, 920
FEHER BE
A 1.500 58, 600. 00 87,900
AR (A)
A 3. 600 51, 200. 00 184, 320
HEm (A) BE
A 1.000 51, 200. 00 51,200
HEm (B)
A 4.100 41, 600. 00 170, 560
AR (C)
A 3. 800 32, 800. 00 124, 640
g
A 0. 800 29, 000. 00 23,200
& Hi 1E%HeH - 1.00K 790, 810. 00 790, 810
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¥ BATHE 1LY
£ b g - BIRTE BAf = B %8 W = & &
FERER
A 1.000 58, 600. 00 58, 600
HEm (A)
A 1.000 51, 200. 00 51,200
& Hi 1YE%HeH - 1.00K 109, 800. 00 109, 800
T EE L
FHEIEWHE - LU
&5 2-11
£ PREAERE B
£ b g - BIRTE BAf = B %8 W E & &
FERER
A 3.000 58, 600. 00 175, 800
HEm (A)
A 3.000 51, 200. 00 153, 600
& Hi 1E%HeH - 1.00K 329, 400. 00 329, 400
FIEEEMIEE L
FHE—IEWHE - L
&5 :2-12
£ EW|E 1LY
£ b g - BIRTE BAf = B %8 W E ik &
HE - HiE
A 1.000 66, 900. 00 66, 900
FERER
A 1.000 58, 600. 00 58, 600
HEm (A)
A 1.000 51, 200. 00 51,200
& Hi 1E%HeH - 1.00K 176, 700. 00 176, 700
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2 b g - BIRTE By = B O 25 W = " =
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= 1.000 32, 739. 00 32,739
& Hi 1YE%HeRH 1,00 32, 739. 00 32,739
T EE L
FHE—REWE : TL
&5 :2-14
2% EBHRRE 1LY
2 b g - BIRTE By = B O %8 W E " =
RIHEEN
= 1.000 122,211.00 122, 211
& Hi 1E%HeH - 1.00K 122,211.00 122, 211
FIEEEMIEE L
FHE—REMWE : TL
&5 :2-15
2% REXEE 1LY
2 b g - BIRTE By = B Ol 25 W = " =
REXEE
= 1.000 18, 489. 00 18, 489
& Hi 1E%HeH - 1.00K 18, 489. 00 18, 489
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